EARAZROREIERT — 2 N—XBISY —F 2016558220 (H) 5E£R1H

PRt EEB 1 —2 B12 5% (xwlw | lmEmml - |5 @) w8
[AE£] 1% :270,000 3 ~ 23%&:54,000"  33%&:24,000M”  437%&:18,000 M .~ 57 :10,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 4t 9 | BEAGLA 1:40.0 6-5-5-5 | 40.1| — 2 479 | BRE (2R)
il 3 Elatahrad 6.0 s} Cs | ) tEAs
LV WN—F v —L B:RT4—bFINLT [EEN e ]
50 44 | B 1:40.5 8-8-8-7 |40.2| — 9 504 | SHARR (&R)
2|1|1| 37T T>O> 5.0 @ 1/2) ) | @ Tr—ZrETa>
RiZa—A295>F B:RAF4T7HE— i
TN = $FARKR— : —4-5- — Iz (£R)
sy 6 TYL xS 5 A (17;45?% 4-4-5-3 | 40.5 6 (4_613) Tes
Lk vAqO— BHTHIXRTUL ESrdies]
- S 5 | BHIEZ 1:40.7 3-3-1-2 |41.1| — 4 462 | SIEELE (£R)
algliol UKL E= R -4 vl o |Bl=s
g BT LART yIN— piczie]
2 # o7 | RINARI 1:40.7 5-5-7-7 | 40.7| — 3 484 | 2E—E (£R)
EE o | A1 YILT 73— 56.0 (7€) (+10) | FEAESLAE
R:x&—Yr/O-x o4y —7 A7 7 — 4
THERE : —1-1- = 1= (2R
6l7]7 A HTHI Ry F 47 i 1(;1({)::? 1-1-1-1 | 41.3 1 (5+032) e
R:HYIRT1 52 B:e4HhHAT TERBHIS
4t 7 | BEBAR 1:41.1 2-2-1-3 | 41.6| — 5 494 | £H—8 (£R)
718|9 T4—XT7I) 56.0 (1 1/2) *+2) FEEE
LRI T—MWZTT—h B:HFTAY FIE
5_ o S £ 9 | EBBT 1:41.1 9-9-9-10 |40.6| — 10 | 485 |fNEERNEE (£R)
8l7!8 i Gl N - 56.0 (74%%) (-5) il E L
R:TSAT7LX24 L B:xvOy b1 BRRESHH LE¥YC T4
SN o=\ EFEREA 41, -10-10- . — hNEEFZE (£R)
9 4 EI>RT5>0 it 6 =5 1 (411)3 10-10-10-9 | 40.6 7 <4+518) nEnE
R:THAFUIv—Ib B:H25C R F—7 HO%5
e # o4 | HEHES 1:41.3 7-5-4-5 | 41.6| — 8 466 | =tERZ (£R)
10[5]5| 1=t 5.0 (7€) o) | FHES
L:d—IWR7Ua—b B:vwT1T54 HE KR
® 1—F—@EBIERL
1T=7r= 7,9,10,6,2,3,5,1,8,4
23—74— |7,9,10,6,(2,3,5),1,8,4
== (7,9,10) ,5, (3,6) ,2,1,8,4
40—+ — 7,10,(6,9),(3,5),(1,2),4,8
[ N5
B 3 510 714K 1-3 2,900 e E 1-3 4,200 JEE 1-3-6 26,320
B B 3 140M 3-6 1,510 e B 3-1 7,530H JEE 3-1-6 91,400/
1 700/ 1-6 5,140 B & 1-3 3,730H
6 280M B H 3-1 9,210M

ABICOVWTRDTEEERROODE. TR LIV,



